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PART -1/ ¥4I - |
CHILD DEVELOPMENT AND PEDAGOGY / 911 fa&r 9 Riamem=

Direction : Answer the following questions (Q. Nos 1 to 30) by selecting the correct/most appropriate options.
39T : freferfaa go4 (9. & 1 9 30) & IR a7 & [o¢ Gel/aad Sugar faehed g/

1.

Mastery Oriented learners typically attribute success to and failure to

(1) ability and good luck; task difficulty ~ (2) ability and effort; bad luck

(3) ability and good luck; low ability (4) ability and effort; insufficient effort
TeRd Sq@ foenefl SR R qoherar 1 99 1 A € 3R T wer

(1) Fraar iR o=t forea; &l wfeaiE (2) Frar iR wiferer; Te fhed

(3) Araar iR =t fora; et e (4) A SR i STaATa i
Which of the following statement represents ‘Proximodistal” principle of development ?
(1) Development is multidirectional and multidimensional.

(2) Identical twins living in different cultures can develop at different rates.

(3)  Children develop ability to grasp the ball before putting beads in thread.
(4) Children develop ability to sit up before standing.

frefafad § @ wF @1 weoF fosm & ‘guir-guivge’ faguia #1 sfaffae s g2
(1) o ag-feumers iR sg-3mam 2an € |

(2)  TTH-3TET GEapfadi B T 1ol guvee el STerT- 3T <3 9 faswfad & wehd )
(3) Wil w1 am § e ¥ vee 9= T I e it eyl foskad e ¥

(4) o= H @S T | IS IS HY AT h fIh Bl B |

According to Vygotsky children speak to themselves :

(1) To aid thought and for self-regulation.

(2) To provide self-reinforcement when adults are ignoring them.
(8) Because they are egocentric.

(4) Because their thought is illogical.

SERTIhT o STTAR I W3 § &1 & © :

(1) fo=R iR - fremm ® wera & fow )

(2) STH-TGEH YSH & & fu o1& oo 3% a8l X | ol |
(3) oHifh o STEhid BId € |

(4) HifH TRt W TR |

Challenges in social communication are evident in :
(1) Attention deficit hyperactivity disorder

(2) Cerebral palsy

(3)  Autism Spectrum Disorder

(4) Learning Disabilities

qrTfSteh SaR B AT fhes T gl € ?

(1) =H =A@ Afafskamieaa fawr
(2) HiRc=k g&TEd H

(3) iAoy fowr |

(4) AferTaTHe forRatimar |

-1 IR AR 2 H



5.  According to Vygotsky’s theory of learning and development, which of the following is an example
of scaffolding ?
(1) Breaking a task down into smaller steps and providing support as needed.
(2) Providing a student with a grade for their work as motivation.
(3) Providing a student with a reading assignment and asking them to answer questions
independently.
(4) Demonstrating a skill to a student and then having them master it on their own.
SRRTIEnt o S 34%'{ forra & fagia & 7R, Frafafed § § &M 91 sTered S 38R © 2
(1) fordt el 1 Bl =N § dIeT IR STAvIshalfaR Ferdl YSH T |
(2)  ARIIROT % &Y H Teh BT I 37 HM & T Th 407 GSH FET
(3) T BT &I UG FI M 1 IR 3% W ®9 § Al & o <7 % T Hg |
(4) T BT HI Tah HIE B Y& HAT SR R 3% 307 TH W 90 HeRd Siida i |
6.  Dysgraphia is characterised by :

(1) Delayed motor skills (2) Difficulties in writing
(3) Lack of reading fluency (4) Repetitive behavioural patterns
TR Tehed i o g
(1) Tocifed Tfder e (2) fafea w@ & FHm
(3) Ue % YaTE H HH (4) TIEUERR SRR
7.  In order to help students to become good problem solvers, a teacher should emphasize on the
practice of :

(1) focusing on information that confirms existing beliefs and preconceptions.
(2) approaching problems in a particular fixed fashion.

(3) breaking large complex problems into smaller manageable problems.

(4) centering only on one particular piece of information related to problem.

3T HHE FHIYM A o | foaenfell o1 wer w0 o foau, tw R o fefaftaa 5 9 feg gfwa
W e <1 =My ?

(1) T STEEHR R &AM A S Tee 9 Hisg favardi iR gamE &t gfte &)

(2) wEEE Fl T faftre Hyia alis 9 5 |

(3) TS AR Sfed gL 1 Biel g qHEns H fava w |

(4) HHEN ¥ Hefyd ST o heldd Teh & 9] W M shigd T |

8.  Assertion (A) : Teachers should use multisensory materials to cater to needs of students in an
inclusive classroom.
Reason (R) : Inclusive classrooms should adopt standardization of curricular materials as well

as assessment strategies.
Choose the correct option :
(1) (A) is true but (R) is false.
(2) Both (A) and (R) are false.
(3) Both (A) and (R) are true and (R) is the correct explanation of (A).
(4) Both (A) and (R) are true but (R) is not the correct explanation of (A).

AMURYT (A) :  Teh THICEN el H BN Sl SRR I T B o fAU fremhi w1 sgHoct At
SUFRT SHIAT A |

SHIT (R) : THTAST SHeTT3Tl 1 TST=ial WIHUT o HITehIhIUl o 1 -H1el Yoo WAl oh HIhIh0T
T STYHT =1 |

Fﬁﬁ%—cﬂ?ﬁ

1) (A) 5@ ® Aferd (R) e B

2)  (A) 3R (R) I Tora ¥ |

(3)  (A) 3R (R) 1 Tl T 3R (A) T (R) TEl AR Il € |

4) (A) 3R (R) I W& § AR (A) T (R) TEt = =& L

-1 R 3 H



9. In the constructivist view :

(1) Individuals are passively influenced by environmental events.
(2) Individuals are conditioned to learn new behaviours.
(8) Learning is extending and transforming the current understanding.

(4) Learning is simply writing associations on the blank slates of our brains.

TIATETGE! gl |

(1) =afs st searei ¥ fHfeha w1 9 guifad 2 €1
(2) SAfFE T SRR HEw % fore sqsferd e S g1
(3) HrEA adaE HE o foar SR aftedE 7

(4) e 59 3R fSur & SR Wie W G5 Hl fora §

1

4

10. Assertion (A) : Effective teachers familiarize themselves with daily lives and socio-cultural
backgrounds of learners.

Reason (R) : Learning takes place in a social context.

Choose the correct option.

(1) (A) is true but (R) is false.

(2) Both (A) and (R) are false.

(3) Both (A) and (R) are true and (R) is the correct explanation of (A).
(4) Both (A) and (R) are true but (R) is not the correct explanation of (A).

JAMURT (A) : U9 ek G 1 RIeqleRl & e Sfem SR ITen! MR- Hipias g8y 9

gftferd ad ¥ |
T (R) : e T gmie ded § Bt |
e fashey 9 -
1) (A) 5El & AfFT (R) Terd & |
(2) (A) 3R (R) S Terd
()  (A) 3R (R) I &l T 3R (A) T (R) el ARSAT T ¢ |
(4) (A) 3R (R) I & € AR (A) T (R) T AT & el

11. Meaningful learning is primarily NOT about :

(1) memorizing information (2) understanding the concept
(3) constructing knowledge (4) developing skills

s1efqul ifer YA w9 9 foras a) & 72

(1) SR =l T (2) STIYRONSAT hl THHAT

(@) I e (4) I w1 oo

-1 IR AR 4 H



12.

13.

14.

15.

P-I

Assertion (A) : Teacher should encourage boys of her class to participate in sports while assigning
art decoration to girls.

Reason (R) : Children acquire gender roles primarily because of the underlying biological
differences.

Choose the correct option.

(1) (A) is true but (R) is false.

(2) Both (A) and (R) are false.

(3) Both (A) and (R) are true and (R) is the correct explanation of (A).

(4) Both (A) and (R) are true but (R) is not the correct explanation of (A).

MUmT (A) :  Trfarsht o1 ST haTl o ISl Sl Wall § ¥R o o faT Ficdiied a1 Afeq o dsihal
] AT AR oh A o MM |

ST (R) : = Y& T ¥ sfafifed Sifas f=arsti & SR Sigt e T80 w3 € |

H@'Wﬂﬁ

(1) (A) 5 T &fehd (R) TeTd

2) (A) 3R (R) I T ¥ |

(3) (A) 3R (R) I T T 2T (A) = (R) T AT HIl T |

(4) (A) 3R (R) ST =& T Al (A) T (R) Tt 1A T B

Kinesthetic learners prefer to learn through

(1) seeing (2) touching

(3) doing and moving (4) listening

Tifreerdt feremedt & "I § HRE THe I

(1) <E @ =

(3) H IR Fe-fRe 4) g™

According to Howard Gardner while a scientist would exhibit high Intelligence, a
sculptor would have high Intelligence.

(1) Naturalistic; Spatial

(2) Transductive; Spatial

(3) Logical-mathematical; Bodily Kinesthetic

(4) Spatial; Bodily Kinesthetic

glae MeR & TR Th oAb 9fg 1 I I KT Fafeh Tk qfdwRr o
gt 3= Ffga arft |

(1)  ehfcerel; Tofeh

(2) TEsfad; wfis

(3)  dfcheh—TToRTa; TfqHoa!

(4)  EfeR; T

Inclusion needs to be promoted through :

(i)  Flexible curriculum (i) Cooperative learning

(iii) Segregation and labelling (iv) Accessibility of building

(1) (i) (i) (iv) (2) @ @) @) @) @) @) @) (i) 4) (@ @) @)
THTG 1 ST <4 o foTT o ST1a9ae § 2

(i) T qeTw () EATHE T
(iii) YU AR AR (iv) I SERA
(1) (i) (iii) (iv) (2) () (i) (i) Gv) () (1) (i) (iid) (4) (i) (iD) (iv)

LR FTRIn i 5 H



16.

17.

18.

19.

P-I

Children learn better if they experience :
(1) Low level of alertness during activity (2) Moderate level of excitement to learn
(3) High degree of anxiety to perform (4) Learned helplessness

EEiSEl ST L § T e T Y W |

(1) Tifafafy o SRE 791 T T qakar (2) e % fau 92m TR & 3R

(3) USRI T o foTy 3= TR W fei (4) At feerem

Assertion (A) : Children below the age of 5 - 6 years should not be pressurized to write ‘properly’
and “within the lines’.

Reason (R) : Children gain a control of finer motor skills from 5 - 6 years onwards.

Choose the correct option.

(1) (A) is true but (R) is false.

(2) Both (A) and (R) are false.

(3) Both (A) and (R) are true and (R) is the correct explanation of (A).

(4) Both (A) and (R) are true but (R) is not the correct explanation of (A).

AMTRAT (A) :  5-6 T4 W HH U & d=ii ol ek W' 3R T@efi & i’ ferem & fo gema =& srem
<fEw |

HIT (R) : T 5 - 6 TS & G Tk hIvIe i deak 0 I L § |

el faehed 9 :

(1) (A) 5 g Aferd (R) Terd B

(2) (A) 3R (R) S TTerd 2

() (A) 3R (R) I W& § 3R (A) FT (R) TE =A@ Al T

(4) (A) 3R (R) S Tl € AT (A) B (R) & AT & el

Children often come up with their own explanations of events around them. On being probed as

to why does it rain Sia says - “God was tired of carrying the buckets of water on his shoulders”.

Such explanations :

(1) Depict that children have an egocentric view and cannot consider other’s viewpoint.

(2) Ilustrate that children are not capable of any reasoning.

(3)  Prove that children’s thinking is much lesser than adults quantitively.

(4) Indicate that children have naive understanding rooted in their cultural context with which

they try to understand events.

T STHRI 3T STTH-UTT b1 A3 i ST SARAT TR 311 € | S it Belt , I8 & S W e st

T ' WA o707 shell W U i Sifeedl B1-ge ok g 9 1! UE -

(1) fafxa s € fF o= 1 U stemehied gfieshion € 3R o g & gfteanior W foem =& R Tk |

(2) IR FH E o g Tk wE | wam @

(3) wifaa FIt ¥ fob =i ol Gre IIEhI I AN § HETHS ' T H 957 HH T |

(4) Ehd <t € fop Al § ST Witehfaeh qRE¥ o STIRA T8 THE Bl ¢ [Srey of SIS Sl THe
T HIR FL S |

Piaget described cognitive development as occurring in :
(1) A continuous continuum

(2) Four overlapping culture specific stages

(3) Four qualitatively different stages

(4) Three progressive levels

T 3 S faema o1 fore g goiq foran €2

(1) U Fad Faed & &9 4§

(2) =R Afqeardt dehfa fafire =ro §
(3) TR IOMHE &9 F fi= =wor |

(4) 9 FAfaeia W) H

LR 6 H



20.

21.

22.

P-I

During play time at school, Rishab, a 7-year-old boy picked a doll to play with. Some of his peers
made fun of him for his choice of toy. As a teacher who wants his students to grow up with gender
role flexibility, which of the following would be the best response to the situation by the teacher ?

(1) Talk to Rishabh that dolls are suitable for girls and boys should not play with dolls.

(2) Tell Rishabh that he should play with something else because his friends won’t approve of
him playing with doll.

(3) Let Rishabh play with doll and tell other children that they can also choose any toy of their
choice.

(4)  Quitely take away the doll and give a car toy to Rishabh without saying anything.

focaTe™ § @ % 994, Y, THh 7 IHd TSeh 1 ol & T T el 32 | 396 TS Al § Iqeh!

3 T6E & faan & foau sus usme S| U e St oraw fomnfiei § <ife often & wed |

Ao fashfaa e =medn €, i 39 feufq § fafafeg § 9 -9 gfafsan < =nfew ?

(1) F9 ¥ 91d A Afen fF e aefEa & fau swge § IR adewi &1 qfean & @ 7@ ga
=T |

(2) U9 | FHE AT fF a7 forddt &R faeim & g @ FHiifer 35k Al ol a8 HSR T § R a7
e & WY Tl |

(3)  HEY I TfSAT o WY W <1 AT TR TH Tl ol e =Mfeq foh o off ST 96 1 FIE faai
< Fha! € |

4) fo ¥ ® Tfe =l g N AfeT 3R FY I Yo F faw wR T A =fe

In developmental terms, a time frame where an individual upholds an amplified sensitivity to
particular incentives for developing particular skills to function in an efficient manner is referred
to as of development.

(1) Incentive period (2) Stimulus period

(3)  Critical period (4) Encoding period

T % He 1, T v w1 foe w =t fafime saonet o wfa wRafa deesiter v & i
o 9% Fua TF A 1w F fau fau Five fowfaa #= 9, o fowm #i FHETs St
2l

(1) YrcERd sEfy (2) ST FAY

(3) AU eTafy (4) FHEATA/TRITST afy

In order to cater to needs of students struggling with Attention Deficit Hyperactivity Disorder
teachers should avoid :

(1) Creating distractions and making noises

(2) Flexibility in curricular materials and instructions
(3) Breaking the task into small easily manageable parts
(4) Using multi-sensory materials

Torerhl @l =AM =g Afafshameiieral faeR | S5 @ SEl i SAavdehdiel ol &M WWd 994
W S A |
(1) fowdu iR IR &H

(2) s It iR frdel # et
(3) I I BIe STEMT | YeieE 9 # died
(4) Sg-HAS AR AT STAN HH

LR FTRIn i 7 H



23.

24.

25.

26.

P-I

Lawrence Kohlberg argued that :

(1) moral development in children occurs in a continuous manner.
(2) there are cultural differences in moral reasoning of children.
(3) moral development occurs progressively in stages.

(4) there are gender differences in moral reasoning of children.

AR iectert 7 T fao & fo -

(1) == H e fo fFiR &9 4 g

(2) == % A qh | Hitpfask ST a |

(3) HAfae faerra it =Xl § B 5

(4) == % g 7 H foi 95 2 T

At which level of Kohlberg’s moral development does individual’s ethical behavior mainly depends
on the mindset that “what do people think of me”?

(1) Postconventional (2) Non-conventional
(3) Preconventional (4) Conventional

Fiearat & Afaes fawm & fra =Ror # =afad o Afaes =eer 7@ 9 9 36 Anfaskd | R w5 ¢ &

“EM IR IR H wEEd § ' ?

(1) IW-IRAREH 2) R-uRufE

(3) YH-IRUH (4) IR

According to Jean Piaget a child who is unable to understand the logic behind simple mathematical

reversals such as 4+5=9 so 9—5=4, it is because of :

(1) animistic thinking (2) irreversibility

(38) egocentrism (4) perceptual centration

S TSt 3 STAR Tk o=t Sl OXe MO SOhHY S 4 +5=9 M 9—5=4 F WS & Tk l G H

TR €, TR H ¢

(1) SteEmRr 9= (2) saREd-ra

(3)  STcHRf=AA (4) STIUNUNCHSE halhiul

Assertion (A) : Teachers should distance themselves from students and place primary
responsibility for learning on them only.

Reason (R) : Learning takes place affectively in an authoritative rather than a democratic
environment.

Choose the correct option.

(1) (A) is true but (R) is false.

(2) Both (A) and (R) are false.

(3) Both (A) and (R) are true and (R) is the correct explanation of (A).
(4) Both (A) and (R) are true but (R) is not the correct explanation of (A).

AR (A) :  Torerenl =1 BET 9 O IR T =TT iR sfenm &t mrerfies et 3= W et
e |

HIT (R) : TRATY Wk ki ITATeR0T & ST Ueh TShITHehRaETE] dareiol | Gmet €7 9 Bl § |

uﬁﬁwaﬁ

1) (A) ¥ g dfed (R) Ted |

(2)  (A) 3R (R) ST Terd

()  (A) 3R (R) 1 &l T 3R (A) T (R) el ARAT T ¢ |

(4) (A) 3R (R) ST Tl € AfRT (A) B (R) & AT & el

LR 8 H



27.

28.

29.

30.

P-I

Assertion (A) : Scaffolding provided by the teachers hinders the learning process of children.

Reason (R) : Lev Vygotsky proposed that children learn independently by acting upon and
manipulating the environment.

Choose the correct option :

(1) (A) is true but (R) is false.

(2) Both (A) and (R) are false.

(3) Both (A) and (R) are true and (R) is the correct explanation of (A).

(4) Both (A) and (R) are true but (R) is not the correct explanation of (A).

rfeRer (A) :  Trershl gR0 YoM foham TN Stretr = ht WieH Wt Ufshan | Sren Sttt

T (R) : TS AR TEfad fohan foh o= Tods ®9 9 TAieR W HE i 3R STH 2T

e HEd § |
'{Té\' Ty ?\ﬁ :
(1) (A) 5 ? Aferd (R) 7o B
2)  (A) 3R (R) I T ¥ |
(3) (A) 3R (R) I &l § 3R (A) Tl (R) T A& HIAl ¢ |
4) (A) 3R (R) I Tl € AR (A) T (R) Tl AR Tl il 7 |
Which of the following correctly describes extrinsic motivation ?
(1) Motivation that comes from environmental consequences.
(2) Motivation that comes from a sense of personal satisfaction.

(3) Motivation that comes from personal enjoyment of the task.
(4) Motivation that comes from internal factors.

7 5 9 & W ARl SIS 1 wel 9o T © 2
(1) AR St ArareRviE gfemd | o7 ¥
(2) AR St =AfFAT Sfte H e A 7
(3) AU S & AfFT A F A T
(4)  STRIIRON ST YA I T AT T
Two important cognitive development milestones of sensorimotor stage of Piaget's theory of cognitive
development are :
(1) Animism and Transformation
Classification and seriation

(2)
(3) Object permanence and deferred imitation
(4) Reversibility of thought and hypothetic-deductive reasoning

st % HemIeTe faera % fagia & Go<l arereh 3Tawe % < Hewqul UM faehrd Hiet % Teer € :

1) SgemR R giEd

(2) afteRTEl SR ShHeg

(3) a% TfaE iR Tfia sTgeR

(4) idedt feda iR IRefeqq- ATt ek
Children -

(1) Are born unruly and need to be socialized.

(2) Come into this world with genetic codes that determine their destiny.
(3)  Are greatly influenced by the social cultural context they grow up in.
(4) Come into this world as tabula rasa or blank slate.

=

(1) frEfa e 3 ¥ iR 3= wrifsren 29 i sTrervdehdt Bt € |

(2) 3@ g B STdEfee He % Wy o ¥ S et frafd @@ e )
(3) W UM Hikhfask ey | aga yHIfad g & o 3 912 8 2
(4) 3O HIRH ‘@el W' a1 ar T8’ & T H o

LR FTRIn i 9 H




PART - Il / YT - 1l
MATHEMATICS / TG

Direction : Answer the following questions by selecting the correct/most appropriate options.

f&9T : fFrefaiad 39 & S o & [o7¢ Weh/aad 3qger faeeq g/
31. What is the result when 7 kg 7 g is subtracted from 9 kg ?
9kg T | 7 kg 7 g Tl A T HIT IRUTH YT Il & ?
(1) 1.93 kg (2) 1.093 kg 3) 13kg (4) 1.993 kg

32. In class III, 150 children were asked to name their one favourite fruit and results for 5 favourite
fruits were written in the form of the following table :

Name of the Fruit | Number of Children
Apple 28

Guava 26
Mangoes 44

Banana 14
Grapes 28

Choose the correct option :

1) Equal number of children have Apple and Guava as their favourite fruit.

2)  The difference between the number of childrens who like grapes and those who like bananas
is 16.

(3) The number of children who like Mangoes and Banana is two times the number of children
who like Guava.

(4) Ten children do not like any fruit given in the table.

e 111 H 150 T=al ¥ IToh THIIRT Uk el o R | 31 T 3R 5 THEIRT Wl o IRomel sl 7 arfetent
T foran T

el SRt AT el <Al TEAT
dl 28
IES 26
3 44
Fel 14
ST 28
el fased &1 g

A SR SRS T R A T HHE T
TR TR el bl THE H 16l Tl i TEATST H FWR 16 7 |

M R el T T a1 =l ol G, SFTHES THS A el edl ohi T i AT & |
10 =<9, 39 aiferen | feu U fordt off wet sl THE & i © |

NN N N
NI
N N N

SPACE FOR ROUGH WORK / 7% & & fau wig
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33. Which of the following is least appropriate about Formative Assessment in mathematics
classrooms ?

(1) It helps to identify students” misconceptions
(2) It provides cumulative evaluations that helps to rank children
(8) To check the progress of students during instructional activities

(4) To identify students’ conceptual understanding

TIfora skt shemiedl H frfafad § § SH-91 TWHEHS 3T & o) H o8 w1 STge © 2

(1) I foenfer st wifaal s 9eam & § FeEd ol §
(2) T8 Tl Hoich SUTTs T € ST foh S=al bl Juiielg LA H Tl T ©
() Tremere foramhamdl % SR faenfof= =t yofa 6 sirem

(4) TorenfeRl i stauROTHS TH T GZHH HEAT

34. A person withdrew ¥ 4,560 from his bank account on 4t of a month and deposited % 2,567 on 20th
of the same month. If at the end of the month, balance is < 3,125, then money (in ) at the start of
the month in his account was :

Teh Afed 3 394 o o @0 § 9 fordl 7M1 4 TR I T 4,560 el 3T 36 9814 § 20 a0 &
T 2,567 ST &4 feu | afe 9 & 3id § S8 @ § 3,125 1 90N €, 9 Hel4 % YRH § SE&H @
Rt emafn () oft ?

1) 5,128 ) 5,118 (3) 4,998 4) 5,213

SPACE FOR ROUGH WORK / 7% &4 & feg smg
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35.

36.

A primary class mathematics teacher gave his students the following problem to solve :
“How many classes of 28 pupils would be needed for a school of 616 pupils ?”
One of the student solved the problem in the following way :
1 Class =28 Pupils
105280
10 » 280
560
2—> _56 — 10+10+2=22 Classes
616
Which of the following is most appropriate for the algorithm used by the student ?
(1) The student has used both the distributive and associative laws of division to solve the problem
(2) The student has used an incorrect algorithm to solve the problem

(3) The student has used the associative law of division across addition to solve the problem
(4) The student has used the distributive law of division across addition to solve the problem

TR heE o Teh T o feres o ofqq faenf 1 ffafed T g & &l &
" 616 Toranferl & wpat o foaw 28 fornfelal arelt fora-T hamed =it sTreraehar grft 2"
o forenedt 4 T9en #l 39 YR & foran
1 e =28 foenet
10 5280
10 » 280
560
25 56 — 10+10+2 =22 &
_616
frefafaa & 9 famnel gr1 ST ot T Serfafy & fau H-9 Te9d 39 © 2
(1) faenedt 7 wwen g & & fou faursm & famo IR we=rd 1 fadi 1 Suam fhen @
(2) fomneft ¥ TmEn 7@ A % AT U Terd wemfafy s fa ©
(3) fomneft 3 wHEn ga w1 % forw A R faureH & Sgerd frem i 3w fora ©
(4) faenedt 7 wven ga & & forw I W fasrem & faawor fem 1 3w foen ©

A triangle having all sides of different lengths is called :

(1) A scalene triangle (2) A right triangle

(3) An equilateral triangle (4) Anisosceles triangle
T e et Tt oo ST ster el St Bl €, e ©
(1) T T gt (2) T TR A
(3) T TwaTg (4) T wHiGEE Py

SPACE FOR ROUGH WORK / 7% & @ fau wig
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37.

38.

39.

40.

The sum of the prime numbers between 31 and 60 is :

31 ¥ 60 T o S i U G HI AN :
(1) 280 2) 311 (3) 221 4) 227

The product of the predecessor of 201 and the successor of 4781 is :

201 % gaadt 31X 4781 % T I TOFEA © :
(1) 965560 (2) 965650 (3) 956200 (4) 956400

What is the most appropriate cognitive skill that help students to recognize and group shapes
according to their attributes and properties ?

(1) Conservation (2) Decomposition (3) Classification (4) Seriation

Y IUGF IS hierel 1 & it faenfefii i fogioaieii 3R Tqull 3 ST9R Thfaai ! Tearm iR

STehT T o H UGS AT § 2

(1) g (2) ATERA (3) fieRYE (4) HHEG

Students feel difficulty in solving division problems because :
(1) Division problems have no utility in daily life.
(2) There are no informal ways of solving division problems

(38)  For solving division problems students need to know addition, subtraction and multiplication
thoroughly.

(4) Students do not like the sign of division.
forenfefell o1 T ot FHEd B S H HiTE Sl T HlfH -

(1) T o TEEnst Ht 3 Sed | g S T2 ©

(2) T Rl HHEET 1 € A ok fAT g ST=e o o T2l gt €

(3) T i THE B A o foTu a8 eTavash ¢ fo fommeff S, wer iR om e o=t @ 9 9 of
(4) foeneft am 1 fas TEe & *d

SPACE FOR ROUGH WORK / 7% &4 & feg smrg
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41. Most II graders are able to add two quantities like four candies and three candies, but when asked
to do 4+ 5 on a worksheet a large number of the same set of learners is unable to do so. What is the
most appropriate explanation of this observation according to National Curriculum Framework
2005 ?

1)
()
()
4)

Learners are not interested in learning real-life mathematics
The learners are not ready for the use of abstract mathematical symbols
Learners are not taught addition properly

Some learners are poor in mathematical skills

TH e o Aferepier franeff wR $Eh oiR i HE S <1 AT Sred # War g ¥, AfeRd St gehvie W
445 o AU el S © < stfremin ol foremelt o o # o B € 1 U ureu=Et S 2005

& STIER TEH! FT R § 2

(1)  Toreneft srefaer wfor wem § w9 @& @ €

2) foeneft syd forde gt % Sy % forg R T B €
3) Torenfeai «r =@ S & = feraran st €

4) P Taenedf it e § FHoe Eh §

42. A 3" standard student, when asked to write one hundred and five in numeral form, s/he writes it
as “1005". This indicates that :

(1)
(2)
()
4)

s/he needs more help in understanding the concept of place value
s/he is unfit to learn mathematics
The student is a slow learner

s/ he is mischievous

e hen o Tk faenedt @ <o Tk | e i 3k % Y H fore Sl gl S @ @ 9 39 41005 ' ferean /
foed T 198 SR T &

(1)
(2)
®)
4)

Y T T Y TTHRON b1 THH B IR TRl i STevaehal §
I TIford T § o1 ©

foremeff T # UK §

o8 IR B

SPACE FOR ROUGH WORK / 7% & @ fau wig
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43.

44.

45.

46.

Which of the following statements is NOT true with respect to the concept of Fractions ?
(1) It represents a part of a collection of same objects

(2) The mathematical notation of a fraction can be represented as a ratio

(3) It represents a part of a whole which is greater than 1

(4) The mathematical notation of a fraction can be represented as a division problem
=i <1 staamon & Hed # fr=fafed § 9 -1 wed T 76 § 2

(1) o8 T 99H a&gsil are T8 o AF &l e & §

2) TH 9= =1 IR fag (F1eeM) T oTgud & &9 § fefud fohar S aehar §

(3) IE T Ul 1 N Fefa Far e S R 1 A @

(4) TH 9= o1 o fag (Aeem) T fause s w6 fEfia & o fa foean s s ©

Radha walks 3 km 725 m per day on Monday, Wednesday and Friday, whereas she walks
2 km 9 m per day on Tuesday and Thursday. Total distance covered by her from Monday to Friday
is :

T GHER, FHaR 3T IEHAR 1 UfdfeT 3 km 725 m Fed! €, Safh HTeaR IR Jeeafdar &1 98 yfdfe
2 km 9 m Tt € | 39 R HHER § YEHaR T =it T $el g ¢ -

(1) 15.355 km (2) 15.193 km (3) 16.975 km (4) 16.202 km

Jasmine said, “A rectangle has two pairs of opposite sides parallel; a square also has two pairs of
opposite sides parallel and so does a parallelogram. So, both rectangle and square are also
parallelograms.”

Jasmine is at stage of Van Hieles theory of geometric thinking.
(1) Formal Deduction (2) Visualization
(3) Analysis (4) Relationships

SIEHH A e, U eTa | foadd enstl o < g 9uHiaR B §; Tk o | off fawdia sneti & 51 g
MR 2 § 3R 3 YR Tk THFIR Fgys # off | safere smea o) ot gHi & gumiaR =gs a1’

SIEHA, 99 g % fagia & s foa % TR W T
(1) =i e (2) TR
(3) foreetwor (4) Hadi w1 A

The sum of the greatest and smallest six digit numbers that can be formed from the digits 5, 9, 0, 2,
8 and 6 (without repetition) is :

3THI 5,9, 0,2, 8 3R 6 T (T TRIEd ) 6 3l hi IS ST Tl ATl T TSI IR FId B FE&N3i
W@P‘[%:
(1) 1192290 (2) 1192209 (3) 1292290 4) 1292209

SPACE FOR ROUGH WORK / 7% &4 & feg smrg
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47.

48.

49.

50.

The missing numbers in the pattern 12, 14, 17, 13, 8, 14, 21, _, _ are respectively :
212, 14,17, 13, 8,14, 21, _, _ B o[« < H&A HAM: € :
(1) 14,5 (2 13,4 3) 15,7 4) 12,3

The smallest four-digit number which is a multiple of 6, 7 and 4 is :
IR i I 98 =AdH G, W6, 7 R4 F O T, A T
(1) 1006 (2) 1008 (3) 1000 (4) 1002

Which of the following has a definite length ?

(1) aray (2) a plane (3) aline (4) aline segment
= o @ form =1 w ffea v et 22
(1) T foo (2) TH gHdA (B) TE @ (4) T @GS

Which of the following is most appropriate for including open ended questions in mathematics
class ?

1) These questions develop critical thinking in students

3) These questions take more time to solve

1)
(2) Answers to these questions are not given in the book
3)
4)

These questions are not easy to copy from each other

TfoTe <t el B g faX Aot el ki GEIehferd it & fore frefafea 8 9 s e st sugea 72
(1) 3 A faenfeli # selramres foa &1 fawm i §

(2) 3 U %k IR gEH H T I A

(3) T U H TA A H T AfHh T ¥

(4) T U B TH-TW H TohA HAT IEE T 7

SPACE FOR ROUGH WORK / 7% &Td & feg smrg
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51.

52.

53.

Which of the following statements are true with respect to “Data handling’ ?
(1) A line graph is used to show comparison among categories of data.
(2) A histogram is used to compare the parts of a whole.

(3) A graphical representation of data is easier to understand when there is a trend or comparison
to be shown.

(4) A bar graph displays data that changes continuously over periods of time.

‘SRSl ol YeieA' % Heiy § frefafag § @ - w6 €2

1) TH W@I-3T0E Sihel i faf= St & s qa w3 & &M ST 2|

2) W M ot fohelt Wk |ul < fafa= sl o6t gor & o o Soam feran S

3) SRSl I STCIE §RT WS THeH H Sgd ST a1 §, ST ot TSl sl ® a1 g fe@rt & |
4) T IS-3NMONE TH 3iThS T HYT ¢, S THI F WL-HY TR S6erd & ¢ |

(
(
(
(

How many planks of size 2 m X35 cm X 8 cm can be made from a wooden block 8 m long, 70 cm
wide and 40 cm thick ?

8m?1'®,70cm?ﬁ§3ﬁ140cmﬁ%m%@w"@@2mx35cmx8cmmmﬁmﬁtﬁw
ST Hehd ¥ ?
(1) 45 (2) 40 (3) 50 (4) 48

2
o= 5 What is the most appropriate inference drawn from the

N |~

A child solved a problem :

solution ?
(1) Child does not know how to represent fractions on number line

(2)  Child has extended the concept of addition of natural numbers to addition of fractions

—

3) Child does not know addition of numbers
4)  Child does not know how to take L.C.M.

—~

T o= 5 U9 B TRl : %+%=§ | 39 T O ol SUgEd N e fehten S wehan § 2

(1) == & e fop fa=it <1 den Y w9 yefiia feman < &

(2) T3 s e ¥ s F srmHren # i ¥ S e e E
(3) = o TEAISH hI S TEl AT ¥

(4) o= I AEEH THISE o e 3T §

SPACE FOR ROUGH WORK / 7% &4 & feg smrg
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54. According to National Education Policy 2020 Mathematics and Computational Thinking is to be
given increased importance as :

(1) It is foundational to evolving technologies like Artificial Intelligence (Al), machine learning
and Data Science etc

(2) It can be a substitute for a teacher
(3) It is the most difficult aspect of learning in school

(4) It is foundational to human survival

Tt foren <fifaq 2020 Mo 3iR FrERYEE = % TE I FET <t § i

(1) I TITE (AD), R AT IR S T e SEft IWRelt g8 deienl ol 3THR §
(2) I U fH1erh 1 T o ka1 ©
(
(

3) 9% Thdl | UieH % Had Hied Teq) ©
4) 9% A S & AT qayd §

55. According to National Curriculum Framework 2005 mathematics teachers need to shift
towards :

(a) Promoting memorization and rigorous algorithms

(b) Mathematical reasoning and logic

(c) Becoming sole authority for right answers

Choose the correct option :

(1)  Only (b) (2)  (b) and (c) (3)  Only (a) (4) (a) and (b)

T =l 0@ 2005 o TR T & et Sl 39 IR 21 shigd T i S8 © :

(a) TERU IR e €Y ¥ THNRGH I @@ <l

(b) TIfUrH ek ferem

(c) U I o foaC THA SAfYRRT s

T foeheq 9 -

(1) 9 (b) (2 (b) 3R () (3) 9 () (4 (a) ¥ (b)
SPACE FOR ROUGH WORK / 7% &Td & feg smrg
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56.

57.

58.

59.

60.

Which one of the following is the most effective way to introduce the concept of area to fourth
graders ?

(1) Formula based method (2) Approximation and Estimation
(3) Tessellations (4) Abacus
<eft Hafl < Al D & hY STAURON & IRFST FU 1 o FHIE T D91 2
(1) 9 omenfa fafy (2) GfHeT IR IR

(3) HeAYH (Efam) 4) fram

The value of = + > 7,

7 14 8

4.5 7 s

7 14 8

I ) = 3 y =
) 56 @) 56 ) 14 ) 28

Which of the following letters has two lines of symmetry ?

= o 9 fg 21er =t <1 wafafq Y@ € 2
(1) E 2 U @) H 4) B

Which of the following is NOT related to Indian mathematics ?

(1) Surya Siddhant (2) Baudhayan Sulba Sutra
(3) Lilavati (4) Charak Sambhita
frefafed 3 9 -9 IR 1o § i T8 <2

(1) o fast (2) e e A

(3) et (4) =k Hiegdl

The difference of the place values of 5 and 7 in the number 352876 is :

&A1 352876 H 5 3R 7 & TIMT AFI Bl 3R ® :
(1) 49997 (2) 50007 (3) 49930 (4) 49993

SPACE FOR ROUGH WORK / 7% &4 & feg smrg

-1 R 19 H



PART - 111 / 417 - 1l
ENVIRONMENTAL STUDIES / 9IaRVT 3/c4gH

Direction : Answer the following questions by selecting the correct/most appropriate options.

39T : freferfad gel & SW a7 & [ Tgl/aad 3ugar [aeeq g/

61.

62.

Read the Assertion and Reason properly.

Assertion : An elephant herd has only female and baby elephants.

Reason : Male elephants leave their herd after 14 - 15 years and move around alone.
Choose the correct answer from the following :

(1) Assertion is true but Reason is false

(2) Assertion is false but Reason is true

(3) Both Assertion and Reason are true and Reason is the correct explanation of Assertion
(4) Both Assertion and Reason are true but Reason is not the correct explanation of Assertion
TR T R hl IH | TS -

afime:  afeRl ¥ g S et sk T @

/T : Tt 14 - 15 91 91K FS B <A § 3R 3Thel &l ¢ |

foreferfiad 3 9 T@ SO o -

(1) 3fiehed w2 § foheg SIOT o ©

(2) 3R Terd © foheg RIOT Wl

(3) T, AR T HIUT L ¢ T SHIXOT, AFURYT Hi el AT FL @

(4) <, SR T HRUT L ¢ fohmg TwUT, ReRe i WE AT TR Al ©

Chapter 4 “Mangoes Round the Year” of NCERT Environmental Studies textbook has a story on
making mango papad so that children not only understand the process and technique but also
appreciate the skills of cooking and preservation. As per NCF 2005, which general objective of
teaching EVS is being achieved through this lesson ?

(1) To explain how much labor is needed to make an object.
(2) To discuss how various things can be made from the natural environment.

(38) To develop understanding with the help of observation and examples related to our
experiences in place of abstraction.

(4) To develop an understanding of how Aam papad is made.

TAHISARE! Sl TR LA i TSAIKIh oh LM 4 ' @T 9 12 FeH'' H 9 99 I Sl heH]

¥ aif =1 fad uferen iR donmiies o1 o= 9g, dfcsh T TR TR0 & il i o TRIET U | T2

reT=l 1 TGN 2005 % STIER, 36 IS o HILAH § $A0H TgH 1 i H1 FHH 35a9d U fhar 57

WIE?

(1) et =g &1 A B foraT 90 1 ST It § SHeh! AT HEAT |

(2) TR IRAY & foRd YR § fafie swqe s ST FehRd! © SHeh! == T |

(3) 3THd o TM T A FIHAl o T2qsl ¥ TS 3Taciihd TS 30N il Ferdl ¥ §oe 1 forenmd
EZGIN

(4) 3T UIE fRY YRR | IR ST © SHeht e foeRfad e |

-1 IR AR 20 H



63.

64.

65.

66.

Mohan is a class V teacher of Environmental Studies. He writes the following activity on the
blackboard in his class. “Find out about the availability of water at the time of your parents and
grandparents and compare it with the current situation.” For the above activity, which of the
following strategies would be most appropriate ?

(1) Role Play (2) Project (3) Discussion (4) Interview

TIgA el 5 o Ueh TATER0T eI o1 {187k © | 9% 191 el § fefafaa nfafafy 1 vamug W foraar
F 14 39 TTT-Tan 3R <reT-<Iet % HHT U i SUeTedT % 9N H A Y SR SHht SduH feafa ¥ g
F " SR Tfafaty & forg, frefafea § 9 w9 9@ 999 Suge wEifd gl ?

(1) ofww fEsd (2)  ufEsE (3) == (4) HIEITERR

Archana is a teacher of Environmental Studies teaching class IV. She forms two groups of children
in her class and conducts a debate activity on the topic “Should the school have uniforms or not”.
Why did Archana organize a debate in her class ? Which of the following may not be the most
appropriate reason ?

(A) Debate gives children an opportunity to think about and understand different aspects of a
topic.

B) Children are encouraged to express their views in the classroom.

C) Children get an opportunity to share their experiences in the classroom.

D) Children assess the knowledge of their peers through debate.

(1) &) ©Qand (D) @) @Band®) () (B),(C)and (D) (4) (A), (B) and ()

3T, aTl 4 1 Teh TG0 LI i RIfareh1 8 | 9% ST9 el | o=l o a1 9g ol © @i foeme

H gfrorrd ST =ifew o1 7 59 fawa W are-faare nfafafy st €1 st 3 oTaet when § are-foaare =i

e ? frefafead § @ S o1 a8 Suga R & 8 Gohdl § 2

(A) a< foare 9 =i =l fhet a1a & fafve Teqsll & o § A SR 998 &1 dien fied 2|
(B) &l H Sl ol ST T WA o o Wiewme fHer §1

(C) el | aI=di ol 3TY TS HIE I T STTER YT el & |

(

(

)
D) dE foare @ 5=t 319 Tiferl & M i 3Tehor Y o ¢ |
1) (A), (C)3RD) (2) (B)HR(D) 3) (B), ()3 (D) (@) (A), (B) IR(C)

Child describes different skilled work related to farming and their inheritance (from elders) in

daily life.

The above statement is :

(1) Learning indicator (2) Learning objective
(3) Statement of competency (4) Learning outcome

a1 fafve Fere wrf S St 3R S Sfted # IRt fatraa (It 9) o1 9o i § |
ST A T

(1) ¥ed & gas (2) Hed % kW

(3)  T&IT U (4) HEd & gfdwd

The state/union territory having coast on the Bay of Bengal is :

(1) Karnataka (2) Kerala

(38) Telangana (4) Andhra Pradesh

S i WIS W g T Tl T4/ Heenfad yeu Freafafer # S sm @ g ?
(1) ieh ) H

(3) T (4) 7Y T

-1 R 21 H



67.

68.

69.

P-I

Lesson 13 in NCERT’s Class V Environmental Studies textbook describes the amazing journey of
“Gaurav Jani”. This lesson is a part of which of the following themes ?

(1) Interrelationship (2) Work and Play
(3) Family and Friends (4) Shelter

TAEESTRET o TATERo 27899 i Ui=ell el s Teaqeds B 118 13 4 R S’ & 3TgYd A <l o
FA ¥ 1T we Frefafed § @ wF 9 oftm & femm €2

(1) 9E day 2) M IR TA

(3) URER IR fi= (4) E™

In a constructivist EVS classroom, which of the following is NOT seen to be happening ?
(1

)  Children are just solving familiar problems.

(2) Children are using their experiences to make new connections between concepts.
)
)

(

3
(4) Children’s experiences are being respected.

TSR ST H Ueh TAETET Fell H, Frefafad § 9 s 9t foran @ et g8 fomn It €2
(1) == 9k 9 TEaH Foe e R R T |

(2) T TAYRONSAT o T i T8 RISl Sl SIS H T 3T ST I R © |
(3) o= 3™ a&g W R weh e ®
(4) T % AU H M e @R

Children are learning by doing activities with concrete objects.

Siddhi is a teacher of class 4. She takes all the children of her class to the playground to play
Kabbadi, while teaching them lesson 10 “Hu tu tu, hu tu tu” of the NCERT Environmental Studies
textbook. Before playing the game, she also explains the rules of this game to all the children. Why
does the teacher tell the children the rules before playing this game ? Which of the following may
be the most appropriate reason ?

(A) She wants to draw the attention of the children that in life like in sports, we make rules.
(B) So that all the work is done properly.

(C) We are all bound by the rules in the same way in the society by which we settle differences
and conflicts among ourselves.

(D) By making rules, the attention of all children is much more on the rules than on the game.
(1 (O and (D) (2)  (A) and (D) @) (A), (B)and (C) (4) (A)and (B)

fafg, T a4 i fafarent &1 a8 SO Fal & T I TSRS & TG0 77T ht USTTEH I
M 108 qq, ALY TeM o faw Wl <Al 1 98 T & HIH T o SRt shagl W TGl 8 | T T
Y Ugel 98 9t =il ol 39 Wal o o oft s © | fifare 59 T i W 9 Ugd o= ol g = STt
¥ ? frafafed 8 @ ®F 91 9o8 S9gEd HR1 & ohdl © 2

(A) T = 1 S 30 SR Gied Fdl © o S i a8 & Sted § +ff 79 1w 39 2 |

(B) difer @i s/ WEl €1 § fopw S |

(©) =\t v H s TR 9§ i € 99 € T 51 36 o § was SR IS gae ¢ |
(

(

)
D) f7om o™ & Tt s o1 2 W ot 3T fom W aga Ay & B
1) () 3 (D) (2) (A) 3R (D) (3) (A), (B) R (C) (4) (A) R (B)

LR 22 H



70. Read the following statements and choose the correct option.

Assertion (A) : Biomass and Fossil Fuels are the two main conventional sources of energy.

Reason (R) : Conventional sources are those which are renewable in nature.
(1) (A) is true, but (R) is false (2) (A) is false, but (R) is true
(3) Both (A) and (R) are true (4) Both (A) and (R) are false

forefera el < ufeT Ts @t foemey 9T -

AR (A) : ST AN TS SHEWH T8, SHI Soll o LI i € |

T (R) : IRl Eid d & 51 e Teiehtoie & ¥ |

1) (A) ¥ T iR (R) Toma © 2) (A) T T SR (R) TEF ©
(3) T (A) IR (R) Tet & (4) T (A) 3R (R) Tord €

71. Consider the following statements A and B.
Statement A : In 1969, Neil Armstrong was the first man to walk on the moon.
Statement B :  In 2007, Kalpana Chawla set a new record for the longest space flight by a woman.

Select the correct code from the following :

(1) A s correct but B is wrong (2) Ais wrong but B is correct
(3) A and B both are correct (4) A and B both are wrong
= feu 7 wAl A B W foaR SIS -

HAT A T{1969 H et AT Hg W ITA a1l Hod gl AR o |

HAT B : U1 2007, H Heudl Al AR § ¥ oid HHY I @ oTell ggal Afge of |
forfefad § & @ F1e 9fte

(1) AW ERIBIA S 2) AT T W BT

(3) A3RBTHA & ¥ (4) A 3B H Mo €

72. It has been observed that some mistakes are made while observing the learning and progress of
children. These mistakes may be the result of our biases. Which of the following information should
not be recorded as a bias ?

(1) Samples of the children’s work in the portfolio.

(2) Prior experiences regarding the ability and performance of the children.

(3) Previous results related to the examination of any one subject and any area thereof.
(4) Social background of the child.

WE aren T T =l % HWiee iR wifa o1 STaeiieh hd 99 9 TAfadi 8 St € 1 98 Tefadi gaN
el w1 9o & SRt § | Frefafed § | o o gEE U qaie 6§49 § <9 TRl e =ey ?

(1) Wi | o=l s HH & T |

(2) F=l ot Al o wE R Gy H geel % AgvE |

() et = faoa o suek fordt T & ot Tlan § 98 7d R |
(4) o= Sl G guYfH |
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73.

74.

75.

76.

Read the Assertion (A) and Reason (R) carefully -
Assertion (A) : The goats from which the soft pashmina wool is collected are found on very high
altitudes of 5000 meters in extreme cold.

Reason (R) : A coat of warm hair grows on goats body which protects it from extreme cold.
Choose the correct option from the following :

(1) (A) is true but (R) is false

(2) (A) is false but (R) is true

(3) Both (A) and (R) are true and (R) explains (A)

(4) Both (A) and (R) are true but (R) does not explain (A)

RIHAT (A) T T (R) Tl &AF 9 T :

Afirerer (A) : 59 SRl o el @ Gorrad AT I SFIT ST € 3 TR1SET 5000 HieR Sk | e
ST § STl wgd Tl uedt |

T (R) : T Tl ¥ o9 % foTT SIeRfiEl & IR W TR STel o IR 3 S ¥ |

frefafed & @ w& fasey =1 9+ ¢

(1) (A) 5 g forg (R) Tod ©

2) (A) e ® foeg (R) &t ©

(3) <Ml (A) T (R) T2 § T (R) , (A) ! ARAT T §

)

(4) < (A) TE (R) W&l € B (R), (A) =T R &l htel

Read the statements I and II.

Statement I :  Due to anaemia, children do not grow well, and their energy levels are low.
Statement II :  Anaemia affects both, children’s physical as well as mental health.

Choose the correct answer from the following :

(1) Iis true but Il is false (2) Iis false but Il is true

(3) Both I and II are true (4) Both I and II are false

FHoA 1 TG 11 1 &9 | T3 |
HYT1:  STHIHAT F FRU =4 3Nk | 9 el I § IR TH Gt ot H7 DA 7
HYTIL: ST =l bt TR iR fenmit dgeedt | 3R &Y 71

foreforfad & & W& < T -

(1) 1% fRg I Terd B 2) 17 § g 11 & R
(3) THTIdeT I HE ) (4) TITS I § |
Select the correct match from the following :

(1) Lavani - Tamil nadu (2) Bharatnatyam - Odisha
(3) Kathak - Karnataka (4) Bihu - Assam
Frferfiad § 9 @ fiee 9h

(1) el - afberg (2) YRAAEEH - SR

(3) U - HAiTH (4) fog - eEm

Cows have Short front teeth and Large and flat side teeth for which one of the following ?
(1) Cutting grass and gnawing grass respectively

(2) Gnawing grass and cutting grass respectively

(3)  Snipping grass and chewing grass respectively

4) Chewmg grass and snipping grass respectively

TR 3 ST % S SIS a0 9D F I 9 SR IS A § | Uw i DA w2
(1) ShERI: 9 RIS Q1 B9 ol Had o faQ

(2) LM E HA AT HH I Hled & g

(3) SHERI: 9 I A1 ©Y =eH o foTg

(4) THERN: SE FEH a1 =9 FeA 6 faw
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77.

78.

P-I

What is the reason why tales and stories have been given an important place in the textbooks of
Environmental Studies ? Which of the following may be the most appropriate reason ?

(A) At the primary level, the teachers of Environmental Studies narrate tales and stories with
interest, that is why they have been given an important place.

(B) The use of stories has often been considered important in developing children’s sensitivity to
environmental issues.

(C) Because children easily relate themselves to the characters of the story, that is why they have
been given an important place in the textbooks.

(D) Tales and stories are liked by the society, that is why they have been given an important
place in the textbooks of the environment.

1) (©and (D)  (2) (A)and(B) 3 (A)and D)  (4) (B)and (C)

I HRO ¢ fof TG0 AT i ISTIhi § Rl 3R FHeI-a ol Hearqul € fean e § ? frefafea

T F A 1 G ST HROT T Gehall § 2

(A) WUfE TR R ER S7Ee % e fF iR weifEi w9 o A € sEifa s
HE@qul €I e T §

(B) =il o1 TATERl ¥ Gaifed Hel o Ufd Hogeiierar fosmfad i o fau oo fored iR srarfal 1
TEIHTS el HHT T R |

(C) Hiifeh o=t hgTt & TSl ¥ 70 SATUeh! S ¥ WIS wd € EITCTT 3okl UTael T&ieh! | Hecayul T
[ERIRRIES

(D) el iR Farfa 9o 1 9HE © SERferT SRt TafaRyr st Wie q&ieh! § He@ul $o feam T €

1) ©@MD) @ WWEB G WMD) @) EFO

In the following question, Assertion and Reason are followed. Read the statements carefully and
choose the correct option from the following :

Assertion : In the lessons of NCERT’s Environmental Studies textbook, real incidents of
common life, everyday problems and some burning problems related to today
have been kept.

Reason : Children can debate openly on all these problems, be aware of the problems, be
sensitive to them and make correct understanding.

(1) Assertion is true but Reason is false.

(2) Assertion is false but Reason is true.

(3) Both Assertion and Reason are correct and Reason is the correct explanation of Assertion.
(4) Assertion and Reason are correct but Reason is not the correct explanation of Assertion.

Frafafed ue= o, Aferam 3iR hIUT 1 31 W T €1 FHUAl I ¥ 9 IR et § 9@ 9@

fasheq =1 =99 *Y

MTHRAT : TAHIESTRE] o, TATER0T 3199 o 9IS J&ih & ISl § 3T fSiert st amdfash wee,
TRl ot et iR o1 9 Sl 39 Soaid TS Sl @1 T ¥ |

HRUT T Al TR W T AR el HY Hoh, TS 9 3TEd @I, S Ui Horgena
T SR TR THSA AT Gk |

(1) SARYT T B Afehd SHROT 379 T |

(2) SFUFHAT 3THH T T HINUT T T |

(3) IfUFRAT 3R HRUT A Tl & 3N HRUT, ATHRYT i Tel A & |

(4)

PRI 3TN HRUT Tl § wifer wIOT, PUHYT 1 Te) e Tl 2

i~
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79.

80.

81.

82.

83.

P-I

How much time ‘boiled milk’ takes for digestion in the stomach ? Choose the correct answer from
the following :

(1) 4 hours (2) 5 hours (3) 2 hours (4) 3 hours
‘It gl g’ U2 W yem H foha wma o1 2 Frfafed # 9wl s oA g
(1) 4% (2) 5% (B) 2% 4) 3%

A person would not drown in the dead sea or a salty lake even if the person does not know how to
swim. This is due to :

(1) neither high nor low density of sea water
(2) volume of sea water

(3) high density of sea water

(4) low density of sea water

T A T TG A1 TR e H & o et B 98 SIRAT A S 8 | SEeh! o ©
(1) EYg & =1 1 | =, 7 = o

(2) HHE % T ABT

(3) EHE % Wl ol S S

(4) HHg % 9 T e

Which one of the following is a group consisting of elements only ?

(1) Steel, Iron, Zinc (2) Tin, Lithium, Sodium

(3) Sodium, Brass, Potassium (4) Bronze, Copper, Aluminium
Fretferfiad & ¥ 1 T T e e @ R

1) wa, oI, Na (2) feo, faferm, difeam

(3) wifeaw, s, diefmm (4) 91N, HR, TGHETHE

A teacher of Environmental Studies, while conducting an activity with some children, observes
some important incidents and also makes a descriptive note of the same. Which of the following
may be the tool of assessment ?

(1) Observation List (2) Anecdotal Records

(3) Rating Scale (4) Portfolio

JATSRUT STE T Tk 187 F9 Il o TArare HH & SRH, TS Teaqul SISl Sl STacieh Hidl §
T 3T Th AU feoafor sff g1 e @ | Frfafed § § SH-91 ST 1 TR 8 Hehdl © 2
(1) sTeclrend gt (2) SIS AT

(3) T wha (4) dEmIfer

Two Indian birds make nests which hang from the branches of trees or bushes. These two birds
are :

(1) Barbet and Sun-bird (2) Tailor bird and Indian Robin
(3) Indian Robin and Weaver bird  (4) Sun-bird and Tailor bird

T IR &l goT A1 ST T STl W SAIAT eIkl STl 91 © | T q AR el €
(1) a5 IR SR TR 2) =i fafea IR =a o
() wa faet iR daX gaf (4) vER@EN AR S fafean

LR 26 H



84. Read the statements A and B carefully -
Statement A : During the cold season lizards go into a long and deep sleep.
Statement B : Some animals go into a long, deep sleep in certain seasons.
Choose the correct answer from the following :
(1) “A’is correct but ‘B’ is incorrect.
(2) A’ is incorrect but ‘B’ is correct.
(3) Both “A’” and “B” are correct and “‘B” explains “A’.
(4) Both ‘A’ and ‘B’ are correct but “B” does not explain ‘A’.
HYT A TE B &l &OH § TS ¢
HAT A ;3 F HioH § fouwmkferal awelt o) el g # = s ¥
HITB: T Hgel H, TS TR v, Tedt g1 § =t 9 €

Frefafed § 9 @& STl 94 ¢

1) ‘A’ ¥& 8 9] ‘B’ o § |

2) ‘AT § T B TR B

(3) THl ‘A’ SIR‘B’ W € SRR, ‘A’ I WEl AT ¢ |
(4)

4) THEI‘A’ 3IR‘B’ TR € W B, ‘A’ S HE ST & R

85. A teacher in his environmental studies class, divides the children into groups and asks them to
collect some objects present in the school. After that he sits with the children and asks them to
distribute those objects into different groups. Children divide objects into different groups on the
basis of their properties. What could be the most appropriate purpose for the teacher to conduct
this activity ?

(1) Activity strengthens the cognitive domain to a greater extent than the other domains of
learning in children.

(2) The activity develops the child’s understanding of all the concepts.
(3) At the primary stage, children learn better by interacting with each other.

(4) By doing the activity, children make very few mistakes in understanding the definition and
facts.

o T1eTeh 1O qTaon S1Eae i hefl H Jodi ol 9Hg  sieany, foemer § AN 379 $® a&U sohg i
1 HE S | THF I T8 T o W1 ASH T a3l b1 fafert T o e & forg wear € 1 o= gt
3o 70N o SR W fafys e # o 3d € | farr & gr 39 Tfafafy sl U 1 =1 969 STgH 35w
A GRATE?

(1) Tifafafy s=f # Wie & o7 el S gorl § ST U8l i TR 88 T Hered Hidl ¢ |
(2) Tifafafy s % |eft eraumoneT S guw fasfad wt T

(3) WAfHR TR W a1 Th TR & A1 a0 foha 3 gL del W I e I |

(4) ifafafy T F =1 9fa 3R 9l 1 wHeH H 9gd wH Tafaa Hd |
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86.

87.

88.

P-I

Rakesh is a teacher of Environmental Studies of class V. He asks the children in his class to do an
activity. In which, all children observe which “object floats in water and which sinks in water” ?
After the activity some children ask the teacher why some objects sink in water and some objects
float in water. What is the most appropriate thing a teacher should do in the following situation ?

(A) The teacher should tell the children that this is happening because of the density.

(B) Give each child the freedom to observe, record their observations, and interpret those
observations.

(C) Provide opportunity to each child to hypothesize, test and make activity based generalizations.
(D) Teacher should say that the main reason for this you will understand in your higher classes.
(1) ©and (D)  (2) (A)only (3 (A), (B)and (C) (4) (B)and (C)

ke, THell 5 <1 ek AeR0T STE1e b f¥1eteh § | o8 3701 hedl | sr=al ¥ Weh TIfcqferfel shid oh fofq shee |
STed Gt o= I STl i § o A dt owg o § SRt § IR e o e | g St §7 2 wfafafy
¥ SWid T2 T ek T g2 € foF $2 a%q ot # <o ot ¥ iR F2 a5qy ur H et € o =i R
Frfafaa aifeafa § wew Riees o1 = Fed ITga Sl =y 2

A) Torerw =1 S @ FHe wifen o UE oA % HR0 R @R

B) Y = ! FRIeT0 A, 191 femfori gt i iR 39 fewford w1 21 s &t STy <6

(
(
(C) TS o= Tl IR LA, T A IR Tifafafy snenfia A=At T &1 STaeR yaH e |
(
(

~—

D) f¥arer &l I8 g1 =NfeT foh SHRT & HRUT AT I TSl hafedi § il |

1) (O (D) (2) HEA (A) (3) (A), (B)R(©Q) @) (B)HR(©Q)

~—

It is 10 A.M. now in India today, it is around noon of today in

(1) Japan (2) Singapore (3) London (4) Karachi

31T 319 YR H 10 A.M. 99T ¥ | 371 & H TIT TR ¥
(1) A () TEmgR (3) A 4) U=t

In a child centered EVS classroom, which of the following activities would be LEAST likely to occur ?
(1

) Children will also be seen sharing their experiences while discussing in the class.
(2) Children will be seen in the classroom, listening to the teacher.

)

)

3
(4
TSRO 7T i T higd wen B, Frafafea § & S0 o foron we@ w0 St fowr <t ?
(1) o= &l H ==l shid U 3T WG died gC ot fomm <7

(2) o= hen H, et w1 gd g fear 3
®)
(4)

Children will be seen actively working in a variety of activities.

The seating arrangement will be seen to change according to the activity of the children.

3) o= WE-aTE i iatatEl | framiel SRt e #id g femE <

4) == ot fafafy % STTER 9 T SHaen § ufed g fem <
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89.

90.

A person boarded an express train on 30 January 2023 at New Delhi for Bangalore. The train
departed from New Delhi at 17 : 00 hours and reached Bangalore at 17 : 00 hours on 31t January
2023. If the distance between New Delhi and Bangalore by train route is nearly 1776 km. The
average speed of the train during this Journey was :

Teh T 1 30 SeRT 2023 1 75 faoel! R¥H | e o folt 37 geng! | ¢ 75 foeelt €17 : 00 5 TR =ell
3R 17 : 00 He W 31 SHaKt 2023 HT ATE gl | AfG T feeedt R e ® S T gl A
1776 Tereirdiex &, a1 71 6t Q0 2 &t sfi|d T o grt ?

(1) 7721 km/hr (2) 71.04 km/hr (3) 74 km/hr (4) 80.72 km/hr

In the following question, Assertion and Reason are followed. Read the statements carefully and
choose the correct option from the following :

Assertion : The curriculum of Environmental Studies is theme-based and each theme is
interreleted.

Reason : The main reason for keeping the syllabus of Environmental Studies theme-based
is that it creates a deep understanding of each theme and each theme begins with
questions.

(1) Assertion is true but Reason is false.
(2) Assertion is false but Reason is true.
(3) Both Assertion and Reason are correct and Reason is the correct explanation of Assertion.

(4) Assertion and Reason are correct but Reason is not the correct explanation of Assertion.

Frafafed ue= o, Aferam 3R hIUT 1 31 W T ¥ 1 FHUAl I e 9 U IR et § 9 w@d
forshed 1 = &Y

AfiereT - TITE0] 31T 1 reT=d] A I Uiiid & 1R goer offH ofa:Heifd €|

HIT: TSR] 3TEFE & UIST=l ohi o TR T 1 Tod q&A R0 § T 308 & ofiH
i TR T I § SR W T oeTd wared 9 2t ¥ |

(1) SATRYT T § AfehT SHROT 379 T |

(2) SATIRUT 3THA T T hRIT T T |

(3) AR 3R HRUT T T 2R /IO, AR T TEl e T

(4) SifeRe iR SR W § AfR T, S1fUeRem it W SAme T 7
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PART - IV
LANGUAGE -1 : ENGLISH

IMPORTANT : Candidates should attempt questions from Part-IV (Q. No. 91-120), if they have
opted for ENGLISH as LANGUAGE-I only.

Read the passage given below and answer the questions that follow : (91-99)

Shreeram Lagoo was acting in a play staged at Ambernath’s Gandhi School. We had managed to
get the tickets for the play after much running around. We left the hostel quietly after eating dinner in
the mess. The play started at 9.30 p.m. and it was already 9.15 p.m. Patil and I were rushing along the
road to the station. Suddenly we saw Upadhyayji coming from the opposite direction. He had seen us.

‘Maharshi, where are you off to at this time ?" he said reprovingly.

We looked at each other’s face. Suddenly Patil spoke up, ‘Sir, I have a headache. We are going to
the station to have some tea or coffee. We will be back right after drinking a cup.’

‘“Why, don’t you get tea and coffee in the mess ?’

‘We do, Sir. But today there wasn’t any milk in the mess. That’s why we are going to the station’,
Patil improvised.

Upadhyay said, ‘Come with me. I'll get you some coffee.” He brought us to his home. The tickets
for the play were squirming in our pockets. We couldn’t work out how to get him off our backs.

After seating us in the drawing room, he asked his wife to make the coffee and sat on the sofa
across from us.

As soon as Mrs. Upadhyay entered the kitchen, I got up and said, “Ammaji, Warden Saheb is
bothering you unnecessarily. I will make the coffee’.

She was pleased to see me. ‘Maharshi, you go sit ... I will make it.”

I went up to her and whispered, “Ammaji, both of us were going to the Gandhi School to see a
play. Warden Saheb waylaid us and brought us here. See, here are the tickets, but he doesn’t know
anything.’

Ammaji examined me from head to toe. ‘I see. Is it a good play ?’

I said , “Ammaji, it is very good.’

“Then why don’t you go ?’ she said with a laugh.

‘How can we go ? Warden Saheb won't give us permission’, I whispered.

She came into the drawing room. Listen, what kind of a warden are you ? Why don’t you let the
children go and have some fun ? Go, Maharshi, but don’t be too late.

91. Mr. Upadhyay’s professional role in the institution was that of ...
(1) a teacher (2)  the hostel warden
(3) an administrator (4) the principal

92. ‘We had managed ...’ Identify the tense of the underlined expression.

(1) Past Indefinite (2) Present Continuous
(3) Present Perfect (4) Past Perfect
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93.

94.

95.

96.

97.

98.

99.

P-I

How did Mrs. Upadhyay receive the boys at home ?
(1) She received them coldly.

(2) She was displeased with her husband for bringing them home.
(3) She welcomed them.

(4) She was unhappy to see them.

Which of the following statements is True/False ?

(A) The boys had purchased the tickets in advance.

(B) Mrs. Upadhyay supported the boys in their endeavour.
(1) (A) is True but (B) is False. (2) (B) is True but (A) is False.
(3) Both (A) and (B) are True. (4) Both (A) and (B) are False.

Choose the expression similar in meaning to ‘improvised’ as used in the passage.
(1) to make it up (2) to declare
(3) to tell the truth (4) to shout

Why were the boys sneaking away from the hostel ?
(1) To have a stroll (2) To play football
(3) To watch a movie (4) To see a play

Which of the following statements is True/False ?
(A) Mr. Upadhyay met the boys inside the hostel.

(B) The boys were already getting late for the play.
(1) (A) is True but (B) is False. (2)  (B) is True but (A) is False.
(3) Both (A) and (B) are False. (4) Both (A) and (B) are True.

What did Mr. Upadhyay do after hearing the boys ?
(1) He talked to them and walked away.

(2) He took them home for coffee.

(3) He did not react at all.
(4)

4) He allowed them to go.

‘The tickets for the play were squirming in our pockets ’

What literary device has been used in the underlined expression.

(1) Personification (2) Simile (3) Alliteration (4) Oxymoron
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Read the extract given below and answer the questions that follow : (100-105)
O what is that sound which so thrills the ear
Down in the valley drumming, drumming ?
Only the scarlet soldiers, dear,
The soldiers coming,.
O what is that light I see flashing so clear
Over the distance brightly, brightly ?
Only the sun on their weapons, dear,
As they step lightly.
O what are they doing with all that gear,
What are they doing this morning, this morning ?
Only the usual manoeuvres, dear,
Or perhaps a warning.
O why have they left the road down there,
Why are they suddenly wheeling, wheeling ?
Perhaps a change in the orders, dear,
Why are you kneeling ?
100. Where is the ‘sound” coming from ?
(1) From a crowded street (2) From a group of commoners
(3) From a contingent of soldiers (4) From a market place
101. The poem presents itself as a conversation...
(I) among three persons (2) ina crowd
(3) among a group of people (4) Dbetween two persons
102. Which literary device has been used in the expression “scarlet soldiers” ?
(1) simile (2) metonymy
(3) alliteration (4) transferred epithet
103. The poem has been written in the form of ...
(1) anelegy (2) an epic (3) a ballad (4) alyric
104. Identify the rhyme scheme of these lines.
(1) abcb (2) abdc (3) baba (4) abab
105. What emotional state does ‘kneeling” reflect ?
(1) indifference (2) anger
(3) anxiety (4) jubilation
s T TR 32



106.

107.

108.

109.

110.

111.

112.

113.

Mother tongue based multilingualism advocates that

(1) all children begin their schooling in English medium and in home language
(2) all children study Hindi as their first language

(3) all children begin their schooling in their mother tongue or home language
(4) all children begin their schooling in the language of the State

Mark the INCORRECT statement among the following, regarding text-comprehension

strategies :

(1) Skimming is more apt for reviewing while scanning helps more with answering particular
questions.

(2) Both skimming and scanning involve rapid eye movement through the text.

(38) Skimming involves going through the text rapidly while scanning involves looking for specific
facts.

(4) Skimming is more about in-depth reading while scanning is more of cursory reading.

When children start using language to ask about things, events and phenomenon around them,
which of the following functions of language is used more than the others ?
(1) Informative. (2) Heuristic. (3) Imaginative. (4) Regulatory.

Which of the following features of human language enables humans to talk about things which
are not present in immediate time and space ?

(1) Structure Dependence. (2) Discreteness.

(3) Displacement. (4) Arbitrariness.

Which of the following skills is NOT considered as a mark of reading with comprehension ?
(1) Organizing and assessing the sequence of events or ideas.

(2) Mentally summarising the text read till now.

(3) Focusing on individual letters/ alphabets.

(4) Anticipating the content ahead.

Which of the following is NOT a feature of the Grammar translation method of second language

teaching ?

(1) Communicating directly in second language and then comparing the rules of grammar of
the two languages.

(2) Focusing more on the form than the function of language.

(38) Comparing the grammatical rules of first and second language.

(4) Learning and practicing the rules of grammar of the second language.

A teacher asks her students to reflect on how they have answered an experience-based question
she gave them and what and how they were thinking when they wrote that answer. This is an
example of :

(1) Metalingualism. (2) Metasemiotics. (3) Metacognition. (4) Metaphor.

Which of the following among Krashen’s hypotheses is similar to Vygotsky’s ZPD ?
(1) Natural order hypothesis (2) Affective filter hypothesis
(3) Input hypothesis (4) Monitor hypothesis
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115.

116.

117.

118.

119.

120.

According to Cummins’ interdependence hypothesis, which of these are interdependent on each
other :

(1) Reading and writing in second language.

(2) Basic interpersonal skills in first and second language.
(3) Comprehension and production in second language.
(4) Cognitive academic proficiency in first and second language.

Which of the following DOES NOT justify starting reading skills with words and short story texts
instead of letters and alphabets ?

(I) Words and texts are more interesting but letters are not.
(2)
(8)  Beginner readers can focus better on bigger units than smaller units.
(4)

Separate letters are more difficult to memorise than words.
Words and texts create meaningful associations which letters fail to do.

Which of the following is linguistically CORRECT about languages and dialects ?
(1) Languages have their own script but dialects do not have their own script.
(2)

(3) Languages have written literature but dialects are only based on oral traditions.
(4)

There is no well-defined linguistic difference between a language and dialect.
Languages and dialects are linguistically different but geographically same.

Veera is a seven month old infant. She is now making vocalizations that combine consonants and
vowels. She is communicating using which of the following ?

(1) Cooing. (2) Linguistic speech.
(3) Phonemes. (4) Babbling.

What is productive vocabulary ?
(I) Words that we use in writing and speaking.

(2) Words which are new to the reader.
(3) Words which are recognized as we hear.
(4) Words noticed when we read beyond the lines.

Which of the following is NOT explained by the concept of Language Acquisition Device (LAD) ?
(1) How children learn figurative language.

(2)  Why the linguistic output of children is more than the input they get.
(3) How children learn their first language.
(4) How children are able to learn language within a short span of 4-5 years.

In a speech community, it is observed that ‘s’ is pronounced differently by two different socio-
economic groups of speakers. This difference is an example of :

(1) A socio-cultural variable (2) A socio-psychological variable
(3) A socio-linguistic variable (4) A pragmatic variable
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PART -V
LANGUAGE - Il : ENGLISH

IMPORTANT : Candidates should attempt questions from Part-V (Q. No. 121-150), if they have
opted for ENGLISH as LANGUAGE-II only.

Read the passage given below and answer the questions that follow : (121-128)

A couple of days later, there was a music recital in the Bharatendu Auditorium, one of the two
largest auditoriums in town. One of the performers was Ustad Majeed Khan.

Lata and Malati both managed to get tickets. So did Hema, a tall, thin and high-spirited friend of
theirs who lived with innumerable cousins-boys and girls-in a house not far from Nabigan;j. They were
all under the care of a strict elder member of the family who was referred to by everyone as Tauji.
Hema’s Tauji had quite a job on his hands, as he was not only responsible for the well-being and
reputation of the girls of the family but also had to make sure that the boys did not get into the countless
kinds of mischief that boys are prone to. He had often cursed his luck that he was the sole representative
in a university town of a large and far-flung family. He had on occasions threatened to send everyone
straight back home when they had caused him more trouble than he could bear. But his wife, Taiji to
everyone, thought she herself had been brought up with almost no liberty or latitude, felt it was a great
pity that her nieces and grandnieces should be similarly constrained. She managed to obtain for the girls
what they could not obtain by a more direct approach.

This evening Hema and her cousin had thus succeeded in reserving the use of Tauji’s large maroon
Packard car and went around town collecting their friends for the concert. No sooner was Tauji out of
sight than they had entirely forgotten his outraged parting comment. “Flowers ? Flowers in your hair ?
Rushing off in exam time- and listening to all this pleasure - music! Everyone will think you are completely
dissolute-you will never get married.”

121. State which of the following statements is True/False.
(A) Taiji was relatively liberal in her approach.

(B) Lata and Malati could not obtain tickets for the recital.
(1) (A) is True but (B) is False. (2) (B) is True but (A) is False.
(3) Both (A) and (B) are True. (4) Both (A) and (B) are False.

122. What does the underlined expression 'the boys are prone to' mean ?

(1) impossible to have/get (2) likely to have/get

(38) sure to have/get (4) not likely to have/get
123. Identify the tense of the given expression “...... had thus succeeded...

(1) Simple Present Tense (2) Present Perfect Tense

(3) Simple Past Tense (4) Past Perfect Tense

124. What was Tauji’s duty as a family patriarch ?
(1) To get the youngsters married
(2) To cook for the youngsters
(3) To teach the youngsters
(4) To keep a strict watch on the youngsters” activities

125. How did Taiji manage to get concessions for the girls ?
(1) By fighting with Tauji (2) By adopting an indirect approach
(3) By arguing with Tauji (4) By persuading Tauji
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126. What cultural show was being held in the town ?
(1) A classical music recital (2) A blockbuster movie
(3) A popular play (4) A dance performance

127. By nature and beliefs, Tauji can be described as a/an...
(1) anarchist (2) agnostic (3) conservative (4) liberal

128. Identify the word nearest in meaning to ‘constrained’.
(1) confined (2) laid (3) arrested (4) caught

Read the passage given below and answer the questions that follow : (129-135)

I designed, after my first voyage, to spend the rest of my days at Baghdad, but it was not long ere
I grew weary of an indolent life and I put to sea a second time with merchants of known probity. We
embarked on board of a good ship and set sail. One day we landed on an island covered with several
sorts of fruit trees, but we could see neither man nor animal. While some diverted themselves with
gathering flowers, and other fruits, I took my wine and provisions and sat down near a stream betwixt
two high trees, which afforded a delightful shade. I made a good meal and afterwards fell asleep. When
I woke up, the ship was no longer in view.

In this sad condition, I was ready to die with grief. When I gazed towards the sea, I could discern
nothing but sky and water, but looking over the land I beheld something white, and coming down, I
took what provision I had left and went towards the object which was so distant that at first could not
distinguish what it was.

As I approached, I thought it to be a white dome of a prodigious height and extent. I drew near to
it, and walked round it and found no door to it. I found that I had not strength nor activity to climb it on
account of its exceeding smoothness. I went round the dome measuring its circumference. I meditated
upon some means of gaining an entrance into it but no means of accomplishing this occurred to me.

By this time the sun was about to set, and all of a sudden the sky became as dark as if it had been
covered with a thick cloud. I was much astonished at this sudden darkness but much more when I
found it occasioned by a bird of a most extraordinary size that came flying towards me. I remembered
that I had often heard mariners speak of a miraculous bird called the roc, and conceived that the great
dome which I so much admired must be her egg. Shortly afterwards the bird alighted and sat over the

egg.

129. The narrator left Baghdad because....
(1) He was weary of the city
(2) He was keen to visit another city
(3) He did not want to live a lazy life
(4) Both (1) and (3)
130. After realising that the ship had left, the narrator.....
(1) was relieved (2) did not react

(3) felt amused (4) was shocked

131. What did the narrator do after reaching the island ?
(1) He chatted with his colleagues.

(2) He sat down for a filling meal.

(3) He took endless strolls around the island.

(4) He gathered fruits and flowers.
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132.

133.

134.

135.

136.

137.

138.

139.

140.

Choose the word nearest in meaning to the underlined word : “...... of a prodigious height and
extent.
(1) narrow (2) marvellous (3) tall (4) large

Identify the tense of the underlined word in : ‘I drew near to it....
(1) Simple Present (2) Future Perfect (3) Past Perfect (4) Simple Past

Identify the Part of Speech of the underlined word in the expression : “.... to die with grief.
(1) Conjunction (2) Preposition (3) Adverb (4) Adjective

The “White dome” finally turned out to be...

(1) a place of worship (2) a luxurious mansion

(3) amassive egg (4) aroyal palace

Which one of the following is NOT true about an assessment ?
(1) It helps to evaluate the pace of a student’s progress.

(2) It can only be done by the teacher.

(38) It provides a holistic view of the student’s progress.

(4) It presents concrete evidence of the student’s performance.

Error-analysis is important in order to look at the gaps in learning because :

(1)  Errors indicate a lack in the understanding of the learners.

(2)  Errors show extent of concept development and motivation.

(3) Most errors are caused by callous attitude of the learners.

(4) Errors are a window into the minds of the learners and their stage of learning.

Which of the following is NOT true regarding the Monitor Hypothesis given by Stephen
Krashen ?

(1) What is ‘acquired” helps in monitoring what is ‘learnt’.

(2) The learner can only monitor if s/he has enough time and enough knowledge of the rules.
(3) Itis used in the context of second language acquisition.

(4) Itis based on the relationship between acquisition and learning.

Which of the following is NOT an example of formative assessment ?

(1) A combination of a comprehensive written test and few other tasks scattered over a period
of time.

(2) Assessment strategies ranging from short tests to peer-reviews throughout the session.
(3) A series of oral and written tasks, role-play etc. throughout the session.
(4) A term-paper at the end of the session.

When a beginner reader uses his/her general knowledge about the text theme, cultural aspects
etc. to make sense of the specific textual content, it is called :

(1) Bottom-up approach. (2) Bottom-down approach.

(3) Top-down approach. (4) Top-up approach.
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142.

143.

144.

145.

146.

147.

148.

149.

150.

Which of the following would not help in textual comprehension and vocabulary development ?
(1) Theme-maps. (2) Picture dictionaries.
(3) Word-maps. (4) Alphabet charts.

Which of these statements is CORRECT regarding the two major types of assessment ?

(1) Formative assessment goes on continuously through the learning phase.

(2) Summative assessment is done before and during the learning phase.

(3) Formative assessment focuses on the form rather than function of learning.

(4) Summative assessment is about the sum total of every form of assessment through the year.

Which of the following DOES NOT help in creating an inclusive classroom ?
(1) Adopting a multilingual approach.

(2) Having some students as monitors in the class.

(3)  Peer-group interaction and feedback system.

(4) Giving team-tasks.

Reading or writing “p” as ‘b” or ‘6" as ‘9" is a common error among children with :
(1) Anomia. (2) Dyslexia. (3) Stuttering. (4) Aphasia.

Basic Interpersonal Communicative Skills is known as :
(1) Language used for day-to-day communication.
(2) Interlanguage.

(3) Higher order language skills.

(4) Language of abstraction.

A teacher teaching English as second language to Hindi-speaking students provides them contexts
and opportunities to engage in little conversations in English without telling them explicit rules.
She presents examples before them which they use in their conversations. Gradually, they come
up with rules on their own with the help of the teacher. Which model/ approach do you think the
teacher is following ?

(1) Communicative approach. (2) Direct method.

(3) Grammar translation method.  (4) Audio-lingual method.

Which of the following is NOT a feature of communicative approach ?
(1) Discovering rules of grammar instead of teaching explicitly.

(2) Developing communicative competence.

(3) More focus on form than function.

(4) Contextualised use of language.

Which genre of stories are the most relevant to propagate multilingualism and multiculturalism ?
(1)  Science fiction. (2) Lengthy tale.

(3)  Folktales. (4) Autobiographies.

Which of the following is NOT a desirable feature in children’s literature ?
(1) Big font size and familiar words. (2) Attractive pictures.
(3) Animal characters. (4) Explicit moral values.

Which of the following is NOT considered a major domain of learning ?
(1) Affective (2) Psychomotor (3) Cognitive (4) Socio-cultural
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(2) HEOTCHe, Q&Tl <l ferehrd e

(3) v T e frEdl W e s <

(4) 9T 1 WA 9EM

FHATS T -Gl fTe TEAER SR 95 HRRaarg i Giauifed w1 & fae Faifyes 9 9 JEhmes 8 2
(1) form e (2) AfoEEAE o (A< <)

(3) ey (4) STcHRATT

frefafed § @ sF-w1 e e 1 sTaferd o & € 2
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READ THE FOLLOWING INSTRUCTIONS CAREFULLY :

1.

10.

1.

12,

13.

14,

15.

The manner in which the different questions are to be answered has been
explained in the Test Booklet which you should read carefully before actually
answering the questions.

Out of the four alternatives for each question, only one circle for the correct
answer is to be darkened completely with Blue / Black Ball Point Pen on
Side-2 of the OMR Answer Sheet. The answer once marked is not liable
to be changed.

The candidates should ensure that the OMR Answer Sheet is not folded. Do
not make any stray marks on the OMR Answer Sheet. Do not write your
Roll No. anywhere else except in the specified space in the Answer Sheet.

Handle the Test Booklet and OMR Answer Sheet with care, as under no
circumstances (except for discrepancy in Test Booklet Code or Number
and OMR Answer Sheet Code or Number), another set will be provided.

The candidates will write the correct Test Booklet Code and Number as
given in the Test Booklet/OMR Answer Sheet in the Attendance Sheet.

A machine will read the coded information in the OMR Answer Sheet.
Hence, noinformation should be leftincomplete and it should not be different
from the information given in the Admit Card.

Candidates are not allowed to carry any textual material, printed or written,
bits of papers, pager, mobile phone, electronic device or any other material
except the Admit Card inside the examination hall/room.

Mobile phones, wireless communication devices (even in switched off
mode) and the other banned items should not be brought in the examination
halls/rooms. Failing to comply with this instruction, it will be considered as
using unfair means in the examination and action will be taken against the
candidate including cancellation of examination.

Each candidate must show on demand his/her Admit Card to the Invigilator.

No candidate, without special permission of the Centre Superintendent or
Invigilator, should leave his/her seat.

The candidates should notleave the Examination Hall/Room without handing
over their OMR Answer Sheet to the Invigilator on duty and sign the
Attendance Sheet twice. Cases where candidate has not signed the
Attendance Sheet second time will be deemed not to have handed over the
OMRAnswer Sheet and dealt with as an unfair means case. The candidates
are also required to put their left hand THUMB impression in the
space provided in the Attendance Sheet.

Use of Electronic/Manual Calculator is prohibited.

The candidates are governed by all Rules and Regulations of the Examining
Body with regard to their conduct in the Examination Hall/Room. All cases
of unfair means will be dealt with as per Rules and Regulations of the
Examining Body.

No part of the Test Booklet and OMR Answer Sheet shall be detached under
any circumstances.

On completion of the test, the candidate must hand over the OMR
Answer Sheet to the Invigilator in the Hall /Room. The candidates
are allowed to take away this Test Booklet with them.

10.

1.

12,
13.

14,

15.

fereaifaRad oo B e A ue -

fora ypr 3 fafirer geeil & 3or v ot & 33T avfar wdlen
giTet & fomerm o &, fort 3ma vl &t 3eR Jof A e e 3 Ug
<l

TB U9 & v U 910 IR fosedl & F 7 30w & foiv OMR
3R T S Y6-2 W B U I Bl & Qi 28 aAlci/let aet UTgee
T I 3| TP IR IR 3ifbd Bt &b aIC 3 deen 18l off Al
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Titeneft Jafaa & 15 7 MUAIR IIR U B A 7 FAC v
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TleT GRAST U SUANR IM T3 & Saqdd JT &, Riild
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PIs A1 JEA A firewrar o Refd @ Biga?) gudt wien ghaa

JcTeEl & Bl oot |

TteT GRABISTANR R U7 & U IU TN YR Bis d
I35 B whemelt W adies F uRerfa-usr  fored |

OMR 3R W & ifed oiier] &I U Hefiel Uealt | SATTU Bl
oft 3@ S o B AR TE yae-u F & org Jgen A fireet @
il

et grT uden dc/mer # ydo-uA & Faw fsdt yer @t
-, Afd A1 eI, BRI B URE, Yo, Aargd
BId, Seldg Teicp UGV T hAT 31T YBIR Pt ATHIAT BT of Sl AT
JWIT F B 3G A B

ATl Wid, IaR AR Frewar (Raa 316 srawen # off) 3R 3
yieafiia aequ udten ect/dmer & T g oirelt AEw | 5 Il Bl
TETel o 8ol U2 33 ULN8T 3 1o ATerell bl JRAT ATl SIUan 3
Temelt freeg BRIATE B SEIN, TN ¥ wel Aled |

IB T W yee wdtenell, ferdters @t awen yae-ua R

Pz defiers a1 ferdtere @ faow srgafa & faa B3 wiemed
3T RS o Bis |

BRI ferdlerd @I 3e 3NUAR 32 U fev fuem uwa 3uRafa-
U9 W GaRT &R U faar wdenel wden damer @ e
T ot wdtemelf o gt ar SuRefa-ua W awmer @ o, ar
g AT STEIN b 3l SNUANR JR U5 8l cilern & 3R I8
SFeIferd ATere BT AT AT ST | Thaeff 310et amd g1er 3o
a1 ferammer sufarfer-usr 3 feu o0 2emet R 3raed eI |

SR TeTch/ETaTeid URderd & U1 afeid 8|

Tl ga/deT H SRV & fou wermelt weror Jzem & wafh
ferratl v faferarett grer feraiféra €1 srqffera el & Aeft aAercl 1
e wieror Awem & fory#ll va faferra & arqamR @ |

feait off wRRafer & wdtem gRde 3R MUHAsR IR W & B
&TT 37T o B3 |

TXeT T B WR, Ukt Efci/et Bieet A qd NUANR FR
ferdteres @t sraear Afu &1 gerrelf srvat amer g2 whem gldaat a1 &
off Fd &1
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